Units of milk produced

25

20

15

10

10

I I T

20 30 40
Number of cows in the commons

50

60



Units of milk produced

25

N
o

=
)]

=
o

if 0 <N<20

N
_—>f(N N-—2
7 fN) {20— if20<N <60
Function 1 2
Turning point
1‘0 2|0 3I0 4]0 5|0

Number of cows in the commons




(3

OINY

(@0

M

Units of milk produced

25

20

15

/Pf(N) = {20 (1

N
(V- 20)2

1600

&)

if 0 <N <20

) if 20< N < 60

Function 2

/TN

/

AN

/

N

T
10

I T T
20 30 40
Number of cows in the commons

T
50




Iragedy of the Commens . @ &

Aggregated Level
) e Total number of cows: 20
Function 2 / Total milk production: 20
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Aggregated Level
Total number of cows: 21
Total milk production: 19.99
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Farmer Level

Farmer 1:

Number of cows: 3

Milk production: 2.86 units
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All other farmers:
Number of cows: 2
Milk production: 1.90 units
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V. Aggregated Level
. Total number of cows: 30
Function 2 / Total milk production: 18.75
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